log (L*/L* ) CIELAB lightness logAY/AY,)  CIE tristimulus value difference
Lo, L* normalized to the Aviny, AY normalized toAY,,
24100 background lightnessL* , 281000 = 116(Y/Y,)° - 16 (¥,=100, 1< Y< 100) [1d
2/3
L*= 116(Y/Y,)® - 16 (Y,=100, 1= Y<100)  [1b] dY'= (3/116) (v/¥n) [2d]
dy = a- (Y/Y,)? [3d]
dv=b- (YY) [4d)
1310 1110 3= 0,557 b=3,826
2,000 o
.
b1 OLTYLTIIZ0 M04S e _ Y718 d%,=083, gYIY)=0045 ,4°
L[*,=50, Y,=18 P i0g[(dYy)/(dY,)]=0, m,=0, 66 PR —
e” , application , application
0,139 , range 0’14,3’ , range
0,1 b 10 'Y,=18100y 0,1 « 10 "Y,=18100y
-1, -1
-2 -1 0 1 2 logY - -1 0 1 2 logY
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log [(AY/Y) I (AYIY),]  CIE Y sensitivity
S//Sy= (AY/Y)/(AWY)U normalized to AY,/Y,,

log [(Y/AY) / (Y/AY,)] CIE Y-based contrast

C,/IC=(YIAY)(YIAY), hormalized to Y, /AY,,

24100 »= 116(Y/Y,)"® - 16 (¥,=100, 1< Y < 100) [1f] 24100 * = 116(Y/Y,)Y® - 16 (Y,=100, 1< Y < 100) [1h]
dY/Y= (3/116) (VIY, i 2f YidY = (3/116) Y, '?? [2n]
dviy=c vyt 3] YidY = e (YIY,)? [3h]

Ao dvv=a (YY) 4] Ao Yidy = £+ (YY) 2° [4h]
c=0120 d=0824 [51] e=833,048 f=5721,613 [5h

2,640
.. Y,=18, dY,=0,83, {/dY,)=22 1£ 57
s~ log[(Y/dY)/(Y/dY),]=0, m;=0,33 _ . =

A TGV Ao e 3 = 0,568 SRR '5)“;:7;32“::—'1‘ —

Y,=18, dY,=0,83, (IY/Y,)=0,045 ' application e 1 2pplication
1 range range
» 0.1 1 10 'Y,=18100y . 0,1 1 10 1Y,=18100y
-2 -1 0 1 2 logY N -1 0 1 2 logY
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